
DS45-430BL12

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

Measuring unit: mm

10
0

20
0

23
3

29
5 

/ 3
45

 / 
39

5

41
0 

/ 4
60

 / 
51

0

100

200

233

235

330

+35°

-35°

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

TV desk stand

TV-bureaustandaard

TV-Tischständer

Support de bureau TV

Supporto da tavolo per TV

Soporte de mesa para TV

Suporte de mesa para TV

TV-bordstander 

NO 

SE 

FI 

PL 

CS 

SK 

RO 

TV-bordstativ 

TV-bordsstativ

TV-pöytäteline

Stojak pod TV

Stolní stojan na TV

Stolový stojan na TV

Stativ de birou pentru TV



PARTS

DS45-430BL12

Attach the adhesive pads to the bottom of the base
Breng de zelfklevende pads aan op de onderzijde van
de voet
Befestigen Sie die Klebepads an der Unterseite
Fixez les pieds adhésifs sous la base du support
Attaccare i cuscinetti adesivi sul fondo della base
Coloque las almohadillas adhesivas en la parte inferior
de la base
Anexe as pastilhas adesivas ao fundo da base
Przymocuj podkładki samoprzylepne do dolnej części
podstawy

EN
NL

DE
FR
IT
ES

PT
PL

M-A. M4x14
(x4)

M-B. M5x14
(x4)

M-C. M6x14
(x4)

M-D. M6x30
(x4)

M-E. D5
(x4)

M-F. D8
(x4)

H. M6x25
(x3)

I. M6x50
(x4)

J. D6
(x3)

M-G. (x8)

A. (x1) B. (x1) D. (x1) E. (x1) F. (x2) G. (x4)

K. (x3)

C. (x1)

* Not Included

Tool

STEP 1

100x100 -
200x200 mm

0-40 kg

Mount the rod to the base
Bevestig de stang aan de voet
Befestigen Sie die Stange an der Basis
Fixer la tige à la base
Montare l'asta sulla base
Montar la varilla en la base
Montar a vara até à base
Zamontować pręt do podstawy

EN
NL
DE
FR
IT
ES
PT
PL

STEP 2

29,5-39,5 cm

G

A

B

E

K J H



* Not Included

Attach the VESA plate to the screen
Bevestig de VESA plaat aan het scherm
Befestigen Sie die VESA-Platte am Bildschirm
Fixez la plaque VESA à l'écran
Fissare la piastra VESA allo schermo
Fije la placa VESA a la pantalla
Fixar a placa VESA ao ecrã
Przymocuj płytkę VESA do ekranu

EN
NL
DE
FR
IT
ES
PT
PL

Attach the screen to the mount
Bevestig het scherm aan de steun
Befestigen Sie den Bildschirm an der Halterung
Fixer l'écran au support
Fissare lo schermo al supporto
Fijar la pantalla al soporte
Fixar o ecrã ao suporte
Przymocuj ekran do uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

STEP 4

STEP 3

C

M-A M-B

M-E M-F M-F

M-G
M-G

M-F

M-C M-D M-D



Secure the VESA plate and place the decorative cover
Bevestig de VESA plaat en plaats het decoratieve 
afdekkapje
Befestigen Sie die VESA-Platte und setzen Sie die 
dekorative Abdeckung
Fixez la plaque VESA et placez le couvercle décoratif
Fissare la piastra VESA e posizionare il coperchio 
decorativo
Fije la placa VESA y coloque la cubierta decorativa
Fixe a placa VESA e coloque a capa decorativa
Zamocuj płytkę VESA i umieść osłonę dekoracyjną

EN
NL

DE

FR
IT

ES
PT
PL

STEP 5

D

I



Place the cable clips and route the cables
Plaats de kabelclips en geleid de kabels
Befestigen Sie die Kabelclips und verlegen Sie die Kabel
Placer les clips de câbles et acheminer les câbles
Posizionare i fermacavi e posare i cavi
Coloque las clips para cables y guíe los cables
Colocar os clipes para cabos e passar os cabos
Umieść zaciski kablowe i poprowadź kable

EN
NL
DE
FR
IT
ES
PT
PL

STEP 6

F

Adjust the mount to the desired position
Stel de steun in op de gewenste positie
Stellen Sie die Halterung auf die gewünschte
Position ein
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajuste o suporte na posição desejada
Dostosuj pozycję uchwytu do twoich wymagań

EN
NL
DE

FR
IT
ES
PT
PL

STEP 7







24.08


